Rk
FH

424y
ZEH)

)48
L

3y T
k|

SNEEHITIRERS

Turning tool system of outer circle

35°E TR

ERTIH VN.
THRRS 16
35 MRT2.5 M

DVVNN

EATIR VN
RS

7 5
35"MBT2.5 M

FHI RS

Cylindrical turning system

EVVNN

ERTIR N
NER 20
35 RT2.5°F

SVVBN

ERTIK VB.

R 10
35 RT2.5°

SVVCN

BRI VC
RS
35 MRT2.56%

SN s
s /ﬁm@

55° & IR

MDPNN

BRI O
SRR 16
55"l 562,56

BAZA DN

R < 020-052
55°iHR62.5° M

NA

0. S

60° & Y14

ERTIE TN
THRR S 16~0132
60°18 K601

ERIA TN

THER S 20~013
60°H B60° G

ERTIA TN

NHERT 20~
60°HR60°Ef

EMTIE TC
16-032

7
60°H R60°5

Nl
“‘o\ﬁ/@

MCMNN-80

DCMNN-80

ECMNN-80

EATHA CN

SCMCN-80

MWENN

SO'R P 2[Rt D160z | DR D20 .
i socimmsom | sommsosm | sommsotim | socmmsosm
|II D DSD D ) R
B10 B10 B10 822 B22
o
) T | @mnk sn EATIK SN ERTIK SC.
SO | yimR ot 116-040 [ DER S 16~ DR 12-025 | IR 125
v oo-tmmas-im | oot mesmm o018 Ras | so-immasmm
R DSSNR = ST
B10 B10 B10 BO5 BO5
- e
EATIH SN EATH SN.. BRI CN. ERTIH CN
MER S 16-040 [ R e R C20-02 [ DR e TUERSH 020-0132
oompis s | oolmasmm | cmmssn |sscEmarannT|isnapsEnT

MCMNN-100

DCMNN-100

| mAasc ERIH ON ERATA CN
100°RENE | R 01 TR (11652 | MRS 20~ 52
' | voowzaomm | o0 mmaosm | 100wmiosm
mmmm—m—m e ——
T e
[ SRAP(C)R
1 : B23 {
I
1ot 3%
I
I ERIIH R EMIIK RCIRP.
1 HHEMLT | DERT 2t BEAL | DERT 2
| tingTu ABBENT g Tum ABBERENE

EEHEH
K

MWWNR MWWNR-B JSDN3CR
r
1
! ERS WN ERTIE WN
1 Efpfh 50° | nmRT 1e-052 [ 71ER T D20-025 DR 12
1 o oot A 5 | VG #47)80°16 5 4 | 84 38 71808 22 )
1
I
I
I
I
1 wRAA TN | EmAK TN AR TC

R 600 [ AR 16-025 | DER o NER 12-
1 Detecton ool o | YR8 TI60°M 8 00| 760"
I
.

TR E®R

py-Li

Insert Center
Alignment

ShEZE I

External Turning

e e e o

ERATIA ASS
P

R 1502
NEHEE

WA ABS

DR
NBHEEE

CH-GTTL

NERT
TR

ERTH TSP
8-016

71
DBEEER

DS-TBPL

ERATIE TEP.
TRt 019~

TR
TBPSL

EATIK TP

NERT 1
ST HEEE

DS-KTKFL

BRI THE
NAERT 01
)T E N

ERTIA THF

IR p~120
D HEER

AB16 i

BRIV
AR 10-020
S HEEE

EMTIR TKF. ERAIA SN
R 10~ NFRS (12
SEHEER SEMT

R
TREH
Small parts
Back turning

MCBNR

ShEZEHI

External Turning

DCBNR

EMIK ON
TR e
S ET

ERTIH SN
25 | R 16
BT

center alignment

ECBNR

EMTIA ON
niERT
SEmT

CH-SDUCL
ABO7

m
BRI DC
NERS 010-012
1@ )90 B 205

CH-ST
ABOT

ERAK
THRR T
W )50 B O

3

s
[

ERTIK

T

R 0110-012
1674 B84 E

End Face Turning

EMTE V BEAIIH VN EATIA VE. ERTIA VC
NART 0 <+ 2| nmR oz
MEE T B E | N TSN E B | W E ) OB E | MES A B S E
e - r
ShELR :
FTERT |
External ]
I
I

SME R
3 T 2 )
External

End Face Turning

EMIR VN
TR 16-013
SEESHEI T
MWLNR

BRI TF
NIRRT (10-0120
o\ i )

JSVJ2B/ICR

SNEIZERITIR RS S M

Index of tool system for cylindrical turning

External

End Face Turning

SCGCR

SVLBR-F

External / End Face Turning

MTGNR

MCFNR

DCFNR

ECFNR

SCFCR

MDFNR

ce Turning

DTGNR

ETGNR

EAIIF TN,
DR 20
SERAE L

S ERHE T

wANK
o THRRS D12-03
ABEATHT AEEHERT
csv
BRI T wRIA TN,
o[ R - TUER' 020-0132 T8
SHEESENT ABEHTRT
DS-SCLL DS-SDUL DS-PTX DS
AB03 AB03 ABO4 TR
B EE
ERTA O
ShE EEES | IR 01 ﬁtﬂ
: oo | DS BREE
Yi
i 2 HY

B09 BO9 809' B22 $§|J
e o
INE
EMTIA SN ERATIA S EREDH S BATK S
TFER 01 ! NFART . 2 | TIRRSE D20 V\ 2| NERT /(\ t}]E
i T W@ ML S mL iy e t}] Kﬁ
[¥g
INFL
wEZEHl mI

End Face Turning

Eatelel

ERIA TN
DR 10-020
e e

JSTA2CR

TP
SDJCR-F

=R 937

ERIK
THER S D12
91 5

ERTIH DN BRI ON ERTIH O EAHA DC ERTIH VN BRI VN ERDK VN EMTIH VB ERIH Ve
DR 16032 | AR (16 ARG 2| mmR 10025 | gy 11750 | IRRS D1e-002 | RS 016-052 | DR C20-092 | NERT 12 TR 132 0-001
smpsEnt | soszanr | smzspnr | sBEEERT ool oo] SEsgEnT | sezsEnr | sEzspsc | sessans | sessanr | ssenss

AL
FH

2y
ZH)

)48
) B

3 T
P&




ZHl
TIHA

csv
4
ER
TR

DS
IR

IEH
HT)

Y
T8

3y T
k|

5ME ZEH &R 2R

Cylindrical turning system

MCFNR

M B ZEH)

Cylindrical Turning

ERAE (R)  R-Type
Order Price

Number | (RMB)

MCFNR/L 1616H12 211100| 140
2020K12 PL25 o|e|211102| 150

2525M12 CN..1204.. [CTMB17|MC1204| /50 | MS625 |HL1814 | o | o [211104| 200

3232P12 | 32 | 32 |170| 32 | 32 | 40 o|o|211106| 260

2525M16 | 25 | 25 | 150 | 32 | 25 | 32 PL30 o[ ©o[211103| 300

3232P16 | 32 | 32 |170| 37 | 32 | 40 | CN..1606.. [CTM822[MC1604| "0 | MS830 [HL2217 | 0|0 |211107| 380

2525M19 | 25 | 25 | 150| 32 | 25 | 32 o] o]|211105| 300

3232P19 | 32 | 32 | 170 37 | 32 | 40 CTM o[o[211108] 260

4040R19 | 40 | 40 |200| 38 | 40 | 50 | CN-1906.-| 4gpp |MC1904] PL40 | MSB30 |HL2217] 6 | 5| 241109| 500

Order Price

Number | (RMB)

DCFNR/L 1616H12 o[ o[211120] 250
2020K12 e|0|211122| 250

2525M12 CN..1204.. | M6X9P |MC1204| PL30 | M6X21 | HLD-1 | o | 0 [211124| 290

3232P12 o|o[211126| 380

Order Price

Number | (RMB)
ECFNR/L 2020K12 | 280
2525M12 CN..1204.. CT618-Z|MC1204 320

3232P12 211134| 450

MCLNR

ShEI% B
Cylindrical Turning
HEEH

End Face Turning

IS~ 71K (Inserts): A01-A02

FE# (Toolholder Parts): P01-P04

ExRFE (R) R

Order

-Type

Price

| | Number | (RMB)

MCLNR/L 1616H12 e | |211200| 140
2020K12 ® | e 1211202| 150

2525M12 CN..1204.. |CTMB17|MC1204| Prao | Ms625 |HL1814 211204 200

3232P12 211206 260

2525M16 PL30 ® | ®1211208| 200

3232P16 CN..1606.. [CTM822(MC1604 PL40 MS830 |HL2217|® | ® 10| 260

4040R16 oo 13| 450

2525M19 ol 09| 300

3232P19 CN..1906.. [CTM1022MC1904| PL40 | MS830 [HL2217|e | e |211212| 260

4040R19 ®|®|211214]| 450

Order Price

D et Number | (RMB)

DCLNR/L 1616H12 0| 01211220| 250
2020K12 | 20 | 20 [125| 32 | 20 | 25 ® | 0|211222| 250

2525M12 | 25 | 25 [150| 32 | 25 | 32 | CN..1204.. | M6X9P |MC1204| PL30 | M6X21 | HLD-1 | ¢ | 0 [211224| 290

3232P12 | 32 | 32 |170| 32 | 32 | 40 0|0 ]|211226| 380

Order Price

Number | (RMB)

ECLNR/L 2020K12 | 20 | 20 ' 125| 32 | 20 | 25 PL30 0 |0211230| 280
25M12 | 25 | 25 |[150| 32 | 25 | 32 [ CN..1204.. |CT618-Z|MC1204 PL40 M8X25 | HLZ-C |o |0 [211232| 320

3232P12 [ 32 | 32 (170 32 | 32 | 40 0|0 |211234| 450

P B & X HNE & T]
P Type Cylindrical Turning Tool

MCBNR

SMNEZEHI

Cylindrical Turning

I=F" 71K (Inserts): A01-A02 BB {F (Toolholder Parts): PO1-P04 ER%5E (R)  R-Type

Order Price

Number | (RMB)

MCBNR/L 2020K12 PL25 ®| e 211400, 150
2525M12 CN..1204.. |CTM617|MC1204| 5, | MS625 |HL1814 e | 211402| 200

3232P12 ® | e 211404 260

2525M16 PL30 e | e 211406| 200

3232P16 CN..1606.. | CTM822|MC1604 PL40 MS830 |HL2217 | e | ® | 211408 | 260

4040R16 ®| e 211411 500

2525M19 e | e 211407 300

3232P19 | 32 | 32 [170| 37 | 32 | 27 | CN..1906.. |CTM1022/MC1904| PL40 | MS830 |HL2217| e | ® |211410| 360

4040R19 | 40 | 40 | 200/ 38 | 40 | 35 e | e |211413| 500

Order Price

Number | (RMB)

DCBNR/L 2020K12 ©1211420| 250
2525M12 | 25 | 25 | 150| 32 | 25 | 22 | CN..1204.. | M6X9P (MC1204| PL30 | M6X21 | HLD-1 [ e |0 [211422| 290

3232P12 | 32 | 32 (170 32 | 32 | 27 ©]0|211424| 380

Order Price

Number | (RMB)

ECBNR/L 2020K12 280
2525M12 CN..1204.. |CT618-Z|MC1204 320

3232P12 211434| 450

MCKNR

i 2

End Face Turning

0= 71K (Inserts):A01-A02  EE# (Toolholder Parts): PO1-P04

Order

Number | (RMB)

MCKNR/L 1616H12 o|e 211500 140
2020K12 | 20 | 20 [125] 32 | 20 | 25 PL25 o | e|211502| 150
2525M12 | 25 | 25 | 150| 32 | 25 | 32 | CN..1204..|CTMB17|MC1204| pr5o | MS625 |HL1814 e Te T211204 200

3232P12 | 32 | 32 [170| 32 | 32 | 40 o | e |211506| 260
2525M16 | 25 | 25 | 150 37 | 25 | 32 PL30 o|e|211508| 200
3232P16 | 32 | 32 [170| 37 | 32 | 40 | ON--1606.. |CTM822)MC1604] p 45 | MS830 | py 5547 | e |0 |211510] 260

3232P19 | 32 | 32 [ 1701 37 | 32 | 50 | CN..1906.. |CTM1022/MC1904] PL40 | MS830 o[211512 260

Order
Number

DCKNR/L 1616H12 1. 211520
2020K12 211522
2525M12 1. CN..1204.. | M6X9P |MC1204 211524

3232P12 il 211526

Price

Order
Number

0101211530

©]0]211534

Price

ZH)
TIH

csv
4

718

DS
IR

EE
H7

Y
TIHE

il
FHl




ZHl
TIHA

csv
4
ER
TR

DS
IR

IEH
HT)

Y
Wkl

3y T
k|

5ME ZEH &R 2R PR SR INEZET]

Cylindrical turning system P Type Cylindrical Turning Tool
MCGNR DCMNN..80 ECMNN..8Q o
O 1
SNE%H v i 2
Cylindrical Turning o L i ‘ﬁ,]J
WEEH ; 714
End Face Turning SR 50 B E :I
Cylindrical Turning/50° Chamfer csv
0" 71K (Inserts): A01-A02  FE 4 (Toolholder Parts): P01-P04 ER5E (R)  R-Type IS5" 71K (Inserts): A01-A02 R (Toolholder Parts): P01-P04 ERAE (R)  R-Type i
; ZEK
> Order | Price Order | Price
n e D Number | (RMB) Number | (RMB) J18
MCGNR/L 126012%*:(1122 S Il e ;g gg el g”;gg 1‘5*8 MCMNN 1616H12-80 | 16 | 16 | 100| 35 | 16 | 8 e [211800| 140 DS
PL25 2020K12-80 | 20 | 20 |125| 35 | 20 | 10 e [211802| 150
2525M12| 25 | 25 | 150| 32 | 25 | 32 | CN..1204.. |CTM617|MC1204| p 35 | MS625 |HL1814| o | o |211704| 200 2525M12-80 | 25 | 25 | 150| 38 | 25 |12.5| CN..1204..|CTM617|MC1204 E::gg MS625 |HL1814| o |211804| 200 IR
2222"112; 32 | 32 1170 32 | 32 | 40 o | [211706| 260 3232P12-80 | 32 | 32 |170| 38 | 32 | 16 e [211806| 260 =
525M16) 25 | 25 150 32 | 25 | 32 PL30 | ®|211703] 300 2525M16-80 | 25 | 25 | 150| 43 | 25 [12.5 PL30 e [211808| 200 i
CN..1606.. |CTM822|MC1604 MS830 | HL2217 .
3232P16] 32 | 32 [ 170| 32 | 32 | 40 PL40 o | e|211707| 380 3232P16-80 | 32 | 32 |170| 43 | 32 | 16 | CN-1606.. |CTMB22IMC1604] p 40 | MSB30 |y 5517| o |211810| 260 HET)
order | rice 3232P19-80 | 32 | 32 | 170] 45 | 32 16 | CN..1906.. |CTM1022|MC1904| PL40 | MS830 o [211812] 260
D v ? =1 Number | (RMB) @y BiEs) Y
DCGNRIL 1616H12 o0 [211720] 250 s || (R T4
2020K12 ® |0 |211722| 250 DCMNN 1616H12-80 0[211820] 250
2525M12 CN..1204.. | M6X9P |MC1204| PL30 | M6X21 | HLD-1 | o | 0 |211724| 290 OSORAETo0 |2 o &
3232P12 o|o|211726| 380 2525M12-80 ) .. | M6x9P |[MC1204 o|211824| 290 =
; 3232P12-80 o|211826| 380
Order Price
Number | (RMB) Order Price )=
ECGNRIL 2020K12 | 20 0|0 [211730] 280 UG || (R =]
2525M12 | 25 o|o|211732| 320 ECMNN 2020K12-80 280
3232P12 | 32 0l0|211734] 450 2525M12-80 .. [cTB18-Z|MC 1204 320 INE
3232P12-80 450 )i
) i
[¥g
INFL
- mIT
MCSNR MCMNN..100 DCMNN..100 ECMNN..100 0
SAE%EH) N | 1 E_/ {
’ -
Cylindrical Turning B ‘L’L L L
% H K —
End Face Turning ] K
SME ZE I/ 40F 7] B 5 :[
Cylindrical Turning/40° Chamfer
USF 71K (Inserts):A01-A02  EE# (Toolholder Parts): P01-P04 ERAB (R)  R-Type = Ik AO1-A02  BEH (Toolholder Part Brsm R Ry

Order Price Order Price
Number | (RMB) Number | (RMB)
MCSNR/L 12312%*"(1122 2 bLos g]}ggg lgg MCMNN 1616H12-100 | 16 | 16 | 100| 35 | 16 | 8 e |212100| 140
2020K12-100| 20 | 20 | 125| 35 | 20 | 10 PL25 o [212102| 150
2525M12 32 | ON..1204.. |CTM617|MC1204| p 34 | MS625 | HL1814 211604| 200 2525M12-100| 25 | 25 | 150| 38 | 25 12.5| CN..1204.. |CTMB17|MC1204| 550 | MS625 |HL1814| o [212104| 200
3232P12 211606] 260 3232P12-100| 32 | 32 [170| 38 | 32 | 16 e |212106| 260
: 2525M16-100| 25 | 25 | 150 43 | 25 12.5 PL30 e [212108] 200
ot | 3232P16-100| 32 | 32 |170| 43 | 32 | 16 | CN-1606.. |CTM822IMC1604] p 40 | MSB30 |y 5597| o |212110] 260
3232P19-100] 32 | 32 11701 45 | 32 | 16 | CN..1906.. |CTM1022| MC1904] PL40 | MS830 e [212112] 260
DCSNR/IL 2020K12 250 ;
2525M12 25 | 32 | CN..1204.. | M6X9P [MC1204| PL30 290 Order | Price
3232P12 380 oy || (A1)
DCMNN 1616H12-100 212120| 250
2020K12-100 212122| 250
2525M12-100 MBX9P |MC1204 212124| 290
3232P12-100 212126 380

Order Price
Number | (RMB)

ECMNN 2020K12-100 280
2525M12-100 .. |CT618-Z)MC1204 320

3232P12-100 450




TFHIR %

Cylindrical turning system

MDJNR DDJNR MDQNR
- EYES SME ZE HI o
$ E[J Cylindrical Turning Cylindrical Turning i IéI]J
- *[— -
End Face Turning :[ End Face Turning
CcsVv , . L Ccsv
s 0S¥ 71K (Inserts): A03-A04  RE# (Toolholder Parts): PO1-P04 E®7AE (R)  R-Type 055" 71K (Inserts): A03-A04 B # (Toolholder Parls): PO1-PO4 EFRAH (R)  R-Type S
Order Price Order Price
Number | (RMB) Number | (RMB)
MDJNRIL 1616H11 . oPL20 o | ® 212300 MDQNRIL 1616H11 oo o o 212500 140
DS 2020K11 DN..1104.. | CTM617|MD1103| pp 50 | MS625 | HL1814 s 212302 2020K11 | 20 | 20 | 125| 33 | 20 | 25 | DN..1104.. [CTMB17|MD1103| 150 HL1814| @ e |212502| 150 DS
T Zo28m11 SRRt 2525M11 | 25 | 25 | 150{ 33 25 | 32 o o |212504| 200 TI4
2020K15 DN..1504... | orpyg19|MD1506| PPL2S | \seos | 1y o114 | o | o |212308 ;:;gm: ;g ;g 1[2)2 33155 ;g gg DN..1504 MD1506| PL25 ez - ggggg 1;3
FE 2525M15 32 | DN..1506.. MD1504| PPL30 o | e [212310| 200 1% 1eTMet9 HL2114 E@
HE 3232P15 o | e |212312] 260 2525M15 | 25 | 25 |150| 40 | 25 | 32 | DN..1506.. MD1504| PL30 o o |[212510| 200 pr
7] 3232P15 | 32 | 32 [170] 42 | 32 | 40 o o |212512] 260 71
Order Price
Y: Number | (RMB) Order | Price \'%
ki Number | (RMB) #
TIH DDJNR/L  1616H11 . oo [212320] 250 TIHH
2020K11 25 | DN..1104.. | M5X9P |[MD1103| PL30 | M6X21 | HLD-3 |o| o |212322| 250 DDQNR/L 1616H11 o]0 (212520 250
- 2525M11 32 o|o[212324] 290 2020K11 DN..1104.. | M5X9P [MD1103| PL30 | M6X21 | HLD-3 |o | o |212522| 250 -
% 2020K15 25 o [0[212326] 250 2525M11 o|o[212524| 290 %
FH 2525M15 32 | DN-150%- | Mexop [MD1304) pL3o | Mex21 | HLD-2 | e|o|212328| 290 2020K15 N 1504 MD1504 |0 [212526] 250 FH
o | o - ® | O
3232P15 40 1906 212330| 380 2525M15 DN 1206, | MEXeP [MBi205]| PL30 | MEX21 | HLD-2 212528 290
1= o 3232P15 - 1906 o|o|212530| 380 I
EH Nomber | (RMS) | Hl
Ord Price
| = (RMB)
I EDJNRIL 2020K15 280 IR
e 2525M15 DN..1504.. |CT618-Z|MD1504 - 320 EDQNRIL 2020K15 280 i
148 3232P15 212336| 450 2525M15 DN..1504.. [CT618-Z|MD1504 320 b
1] i 3232P15 212536| 450 ) i
124y 1247
INFL INFL
= o ay o > N
s
Rk !
i nazm ¥ A el |
12 kD IEéIJ i T8 26 ) Targ
7] v End Face Turning N E[
% e 0¥ 71K (Inserts): A03-A04  FE # (Toolholder Parts): P01-P04
USF" 71K (Inserts):A03-A04  FE# (Toolholder Parts): P01-P04 ExA® (R) R-Type . .
Order Price
Number [ (RMB)
1616H11 PL20 ¢ |212200] 140 MPFNRIL 12%12?:(1111 20 | 20 |125| 33 | 20 | 25 | DN..1104.. |cTMB17|MD1103| PL20 HL1814 .. glgggg 150
— 2020K11 20 | 20 [125| 36 | 20 | 10 | DN..1104.. |CTM617|MD1103 HL1814| ® |212202| 150 - - PL30
2525m11 | 25 | 25 |150] 36 | 25 |12.5 PL30 o 519204 200 2525M11 | 25 | 25 | 150| 33 | 25 | 32 o o |212554| 200
S 1616H15 | 32 | 32 | 100] 43 | 32 | 8 M$625 o [212206] 140 1516 Ho 5 5| IS MO it Gl 20 Ms625 Sl 202556/ I kD
= u 2020K15 | 25 | 25 |125| 43 25 | 10 | DN..1504.. vb1506| PL25 iota| ® |212208 150 2020K15 | 20 | 20 | 150 | 39 | 20 | 25 | DN..1504..| o\ IMD1506| PL25 dizi1a|® *|212558| 150 % 3
2525M15 | 32 | 32 |150| 43 | 32 [12.5| DN..1506.. |CTM619 \in1504] PL30 e |[212210| 200 2525M15( 25 | 25 | 170| 40 | 25 | 32 | DN..1506.. MD1504| PL30 e o |212560| 200
[ 3232P15 | 32 | 32 |170| 43 | 32 16 o [212212] 260 3232P15 | 32 | 32 | 170| 42 | 32 | 40 o o |212562| 260 [
247 Order | Price Order | Price 247
zﬁu Number | (RMB) Number [ (RMB) zﬁu
DDPNN  1616H11 | 16 16 | 100 36 | 16 | 8 oo [212220] 250 DDFNR/L 1616H11 0|0 [212570| 250
2020K11 | 20 | 20 |(125| 36 | 20 | 10 | DN..1104.. | M5X9P [MD1103| PL30 | M6X21 | HLD-3 |0 |0 [212222| 250 2020K11 | 20 | 20 [125| 32 | 20 | 25 | DN..1104.. | M5X9P [MD1103| PL30 | M6X21 | HLD-3 | o | o |212572| 250
i 2525M11 | 25 | 25 | 150| 36 | 25 12.5 o|o[212224| 290 2525M11 | 25 | 25 |150| 32 | 25 | 32 o|o|212574| 290 g
i 2020K15 [ 20 [ 20 [125[ 43 [ 20 [ 10 | oo VD 1504 o [0[212226] 250 2020K15 | 20 [ 20 [125] 37 [ 20| 25 | oy 1504 VD150 o [0 [212576] 250 i
) 7 2525M15 | 25 | 25 |150| 43 | 25 [12.5| pu- 1208 | MeX9P [\DT2 08| PL30 | M6X21 | HLD-2 | e [0 |212228| 290 2525M15 | 25 | 25 | 150 37 | 25 | 32 | DN-1500- | mexop |MD1504) pLao | mex21| HLD-2 | e | o 212578 290 )
3232P15 | 32 | 32 [170] 43 | 32 | 16 | O 1000~ o|o|212230| 380 3232P15 | 32 | 32 [170| 37 | 32 | 40 1906 o|o|212580| 380
Order Price .
i E Number | (RMB) 3
4 - 4
i EDPNN  2020K15 | 20 | 20 125 39 | 20 | 10 PL30 oo (212232 280 2]
2525M15 | 25 | 25 |150| 40 | 25 [12. 5| DN..1504.. |CT618-Z[MD1504| [/ 70 | M8X25 | HLZ-D |0 | 0|212234| 320
3232P15 | 32 | 32 |170| 42 | 32 | 16 o|o|212236| 450




MZG® SNEIZEHI R R
Cylindrical turning system

MSBNR DSBNR . _j Order Price
<l Number
75°

" Z o u . DSKNRIL 2020K12 "
ZEHl 5./ . 2525M12 =]
\ " R B - B — 2

Cylindrical Turning = “
csvVv 0= 71K (Inserts): AD7-A08  ZE# (Toolholder Parts): P01-P04 ExRAMB (R) R-Type cSsvVv
i ) ESKNR/L 2020K16 280 [y
Order Price
K Number | (RMB) 2523Ml6 £
na 3232P16 410 7a
MSBNR/L 1616H12 | 16 | 16 | 100| 32 | 16 | 13 | e|212600] 140 oo
2020K12 | 20 | 20 |125| 32 | 20 | 17 PL25 o | o|212602| 150
DS 2525M12| 25 | 25 | 150| 32 | 25 | 22 | SN-1204.. |CTMBITIMS1204| 5 5 | MS625 | HLIB14| o | o |512604| 200 Bi bs
Wk} 3232P12 | 32 | 32 |170| 32 | 32 | 27 o | o|212606| 260 T4
[ 2525M15 | 25 | 25 |150| 32 | 25 | 22 PL30 o | e[212605] 200 45° Blfs _—
F&E 3232P15 | 32 | 32 |170| 37 | 32 | 27 | SN-1506.. |CTMB22|MS1504| ), | MS830 |HL2217| | § |512607| 260 ORI % B )
#7) $252P18 132132 17037132 | 27 | o\ o0s oruoaaluso0a| pLao | wseso |mizzr7 |5 212808 260 o ot + #7)
0= J1H (Inserts): A07-A08  EE 4 (Toolholder Parts): PO1-P04
Y Order Price Yil
kil Number kil
DSBNR/L 2020K12 —

i 3232P12 380 i
=Hl 2525M12 | 25 | 25 | 150 | 35 | 25 |12.5| SN--1204.. |CTM617|MS1204 [0 | MS625 |HL1814| {2,551 500 ZEH|
= MSRNR 3232P12 | 32 | 32 [170] 35 | 32 | 16 o |212706] 260
= 2525M15 | 25 | 25 | 150| 40 | 25 125 PL30 o |212708| 200
2§ 323215 | 32 | 32 | 170 40 | 32 | 16 | SN-1506..|CTM822\MS1504| o, | MSB30 |HL2217| o 1545710| 260 %H

3232P19 | 32 32 170| 40 | 32 16 o |212712] 260
MNE mEn 02015 | 40 | 40 2001 40 | 40 | oy | SN--1906.. [cTM1022| MS1904| PLAO | MS830 |HL2217| o [21577% 230 E
)& Cylinarical Turning L
- Order Price
7] b <) 3 = RMB ) i
18 47 IS5 71K (Inserts):A07-A08  ERH# (Toolholder Parts): PO1-P04 ERAE (R)  R-Type 8 ) Ny || (A 1845
[Eincidsad . DSDNN  1616H12 o [212720] 250 =
Order | Price 2020K12 o |212722| 250
INEL Nontar | (RMB) R 0. SN..1204.. | Mox9P [Ms1204| PL30 | Mex21 | HLD-1 | o |212722) 250 INEL
MI  “MSRNRIL 1616H12 o (213100 140 HZGAE2 i K A A B mT
2020K12 o |e|213102| 150 ;
R 2525012 SN..1204.. |CTM617(MS1204| pray | MS625 |HL1814| o | o |313104| 200 Nomoer | (RME)
g 3232P12 o |213106| 260
2525M15 PL30 o[ ©0[213108] 200 ESDNN  2020K16 10 212730| 280
ey BEHEIE SN..1506.. |CTMB22) MS1504| p| 40 | MS830 |HL2217 |6 | o S I 2525M16 12.5| SN..1204.. [CT618-2|MS1204| D-25 | Max2s | HLz-s | o 212732 290
olo 3232P16 2|32 170 37 | 32 | 1 o 2127 41
%7] 1040R19 SN..1906.. [CTM1022|MS1904| PL40 | MS830 [HL2217 | o | o |213114| 450 32 |32 [170] 37 | 32 | 16 36] 410
ek Order MSSNR ESSNR ! E
DSRNR/L 2020K12
2525M12 SN..1204.. | M6X9P [MS1204 45° fElffy
o - ‘7:—
— 45° Chamfer + Cylindrical Turning _I
Number 055" 71K (Inserts): A07-A08  FE f# (Toolholder Parts): P01-P04 ER 7518 ( R-Type
%y  ESRNRIL 2020K16 i | B
2525M16 SN..1204.. |CT618-2| MS1204 Number | (RMB)
= 3232P16
MSSNRIL 1616H12 | 16 16 | 100 35 | 16 | 20 | 213200] 140
MSKNR 2020K12 | 20 | 20 | 125/ 35 | 20 | 25 PL25 o | |213202| 150
ﬂzgﬁ 2525M12 | 25 | 25 150 35 | 25 | 32 | SN-1204..|CTMBI7|MS1204| p 30 | MS625 | HL1814] o | o [213204| 200 wi:ﬁ
3232P12 | 32 | 32 [170] 35 | 32 | 40 o | o |213206| 260
I 2525M15 | 25 | 25 | 150| 40 | 25 | 32 PL30 0| o[213208] 200 —
3232P15 | 32 | 32 |170| 40 | 32 | 40 | SN-1506.. [CTM822)MS1504| py4q | MS830 | HL2217] 6 | o | 213210| 260
g mEEH 3232P19 | 32 | 32 | 170| 40 | 32 | 40 o[ o|213212] 260 P
Py End Face Tuming 4040R19 | 40 | 40 [200] 40 | 40 | 50 | SN--1906.. [CTM1022]MS1904] PL40 | MS830 | HL2217| 5 | o |213214| 450 e
IS5 71K (Inserts):A07-A08  EEH# (Toolholder Parts): PO1-P04 ERAE (R) R-Type Order | Price
Number | (RMB)
! Ord Price . .
jﬁE Number | (RMB) DSSNRIL 1616H12 0| 0|213220] 250 iﬁE
) L 2020K12 | 20 | 20 [125| 35 | 20 | 25 o|o|213222| 250 )
¥ s e oo 512800140 | 2o 2o | 12ol 55 20 25| sN..1204.. | MeX9P |MS1204| PL30 | Mex21 | HLD-1 | o | o|313523| 250 5
2020K12 | 20 | 20 [125| 35 | 20 | 25 PL25 o|e|212802| 150 3232P12| 32 | 32 [170] 37 | 32 | 40 o] o[213226| 380
2525M12 | 25 | 25 | 150 35 25 | 32 | SN-1204. |CTME1TIMS1204 o 5, | MS625 \HL1814| o | o |512804| 200 i
3232P12 | 32 | 32 |170| 35 | 32 | 40 o |e|212806| 260 oty || s,
2525M15 | 25 | 25 | 150 40 25 | 32 PL30 o|o|212808| 200
3232P15 | 32 | 32 |170| 40 | 32 | 40 | SN-1506.. |CTMB22/MS1504] o, | MSB30 | HL2217] o | 5 | 519810| 260 ESSNR/L 2020K16 | 20 | 20 |125| 35 | 20 | & L6 0| o [213230] 280
3232P19 | 32 | 32 |170 40 | 32 | 40 o[ o|212812| 260 2525M16 | 25 | 25 [150| 37 | 25 | B | SN..1204.. [cT618-2| MS1204 M8X25 | HLZ-S | o | o |213232| 290
4040R19 | 40 | 40 |200| 40 | 40 | 50 | SN-1906.. |CTM1022]MS1904| PL40 | MS830 | HL2217] | 5| 212814| 450 3232P16 |32 32 |170] 37 [ 32| ™ pLao o|o|213236] 410




ZHl
TIHA

csv
4

MZG"

5ME ZEH &R 2R

Cylindrical turning system

MTBNR WTBNR
) )
) =
; \
smzE s:
Cylindrical Turning -
IS5 71K (Inserts): A09-A10  RE# (Toolholder Parts): PO1-P04 EmAE (R)  R-Type
~ Order Price
A > | e Number | (RMB)
MTBNRIL 1616H16 | 16 | 16 | 100 28 | 16 |15.5 L2 214100] 140
2020K16 | 20 | 20 | 125 28 | 20 [15.5 TN..1604.. |CTM513[MT1603| DL20 | Ms625 |HL1814| @ | o |214102] 150
2525M16 | 25 | 25 | 150 30 | 25 |20.5 o | o|214104] 200
Order Price
Number | (RMB)
WTBNRIL 1616H16 | 16 | 16 | 100|31.5| 16 |15.5 o|e|214200] 150
2020K16 | 20 | 20 125 33 | 20 [15.5 PL25 o|o|214202| 156
2525M16 | 25 | 25 | 150 | 33 | 25 |20.5| | N-0004. | CTMITSTIMTIB03| oo | M5x23 | WT-16 | o | o |514204| 212
3232P16 | 32 | 32 |170] 33 | 32 [27.5 o | o|214206| 276
MTENN ETENN
i

b IEéIJ

0S5 71K (Inserts): A09-A10

R4 (Toolholder Parts): P01-P04

A

Ex%5E (R)

Order
Number

R-Type

Price
(RMB)

MTENN  1616H16 | 16 | 16 o (214300
2020K16 | 20 | 20 |125| 28 | 20 | 10 PL20 o [214302| 150
2525M16 | 25 | 25 [150 30 | 25 [12.5| TN-1604. [CTMSTSIMTI603 o gy | MS625 [HLI8T4T o 1514304| 200
3232P16 | 32 | 32 [170| 30 | 32 | 16 o |214306| 260
2525M22 | 25 | 25 [150 | 36 | 25 [12.5 PL25 o |214308| 200
3232P22 | 32 | 32 | 170 36 | 32 | 16 | TN--2204. |[CTMB1T7|MT2204] ), | MSBSO [HL1917| o |544310] 260

- Order Price
A ' B A P Number | (RMB)

WTENN 2020K16 e o |214400] 200
2525M16 | 25 | 25 | 150| 36 | 25 [12.5| TN..1604.. [oTusisT|MT1603| 125 [ M5x23| WT-16 | e |214402| 260
3232P16 | 32 | 32 |170| 36 | 32 | 16 o |214404| 450

Order Price
Number | (RMB)

ETENN  2020K16 L5 214420] 280
2525M16 | 25 | 25 | 150 36 | 25 [12.5] TN..1604.. [cT515-z| MT1603| PL25 | mex2s | HLZT | o |214422| 290
3232P16 | 32 | 32 170 36 | 32 | 16 o |214426] 410

MTFENR

M E ZEH

Cylindrical Turning

i T8 2 Hl

End Face Turning

a DTFNR’

0= 71K (Inserts): A09-A10  FE #F (Toolholder Parts): P01-P04 Ex7E (R) R-Type
Order Price
Number (RMB)
MTFNRIL 1616H16 | e|213800] 140
2020K16 | 20 | 20 [125] 28 | 20 | 25 PL20 o | o|213802| 150
2525M16 | 25 | 25 | 150| 30 | 25 | 32 | |N-1604. |CTMSISIMTI603| o g | MS625 | HL1BT4) | 1513804 200
3232P16 | 32 | 32 [170] 30 | 32 | 40 o | o |213806| 260
2525M22 | 25 | 25 | 150 36 | 25 | 32 PL25 oo [213808] 200
3232P22 | 32 | 32 [170] 36 | 32 | 40 | TN--2204.. |CTME17|MT2204] p g | MSB30 | HLTOT7] o | 5 | 213810| 260
Order Price
Number | (RMB)
DTFNRIL 1616H16 | 16 | 16 100 29 | 16 | 20 0| 0|213820] 250
2020K16 | 20 | 20 |125| 29 | 20 | 25 o|o|213822| 250
2020K16 1 201 20 17251 29 1 201 25 TN..1604.. | MsX9P [MT1603| PL30 | Mex21 | HLD-3 | | (213822) 250
3232P16 | 32 | 32 |170| 31 | 32 | 40 o|o|213826] 380
Order Price
Number | (RMB)
ETFNR/L 2020K16 | 20 | 20 |125| 32 | 20 | 25 Los 0| 0|213830] 280
2525M16 | 25 | 25 | 150| 34 | 25 | 32 | TN..1604.. [CT515-2| MT1603| PL25 | Max2s | HLZ-T | o | o|213832| 290
3232P16 | 32 | 32 |170| 34 32 | 40 o|o|213836] 410
MTGNR DTGNR E{
. Vs
e ]
SHEEH

Cylindrical Turning

i —

05" 71K (Inserts): A09-A10  EE# (Toolholder Parts): P01-P04 EREE (R) R-Type
Order Price

Number | (RMB)

MTGNRIL 1616H16 oo [213900] 140
2020K16 | 20 | 20 [125| 28 | 20 | 25 PL20 o | o |213002| 150
2525M16 | 25 | 25 (150 30 25 | 32 | |N-1604. |CTMSISIMTI603| o) g | MS625 | HL1BT4| o | o 1513904] 200

3232P16 | 32 | 32 [170| 30 | 32 | 40 o | o |213906| 260
2525M22 | 25 | 25 (150 | 36 | 25 | 32 PL25 oo |213908] 200

323222 | 32 | 32 | 170 36 | 32 | 40 | TN--2204. |[CTMB17|MT2204| ), | MSB30 |HL1917| o | o | 213910] 260

Order | Price

Vs = = Number | (RMB)

DTGNR/L 1616H16 | 16 | 16 |100| 29 16 | 20 0] 0[213920] 250
2020K16 | 20 | 20 |125| 29 | 20 | 25 | TN..1604.. | M5X9P |MT1603| PL30 | MeX21 | HLD-3 |o|o|213922| 250

2525M16 | 25 | 25 |150| 31 25 32 o|o0|213924] 290

3232P22 | 32 | 32 [ 170] 32 | 32 | 40 | TN..2204.. | M6X0P |MT2204| PL30 | M6X21 | HLD-2 [ 0] 0] 213926] 380

Order Price

Number | (RMB)

ETGNRIL 2020K16 | 20 20 |125| 32 | 20 | 25 oLos oo [213930] 280
2525M16 | 25 | 25 |150| 34 | 25 | 32 | TN..1604.. |CT515-2| MT1603| PL25 | Mex25 | HLZ-T || o |213932| 290
3232P16 | 32 32 170| 34 | 32 40 o|o|213936| 410

ZH)
TIH

csv
4

718

DS
IR

EE
H7

Y
TIHE

il
FHl




|\/|ZG® ZHIRYG P Y45 XN E 2 T]

Cylindrical turning system P Type Cylindrical Turning Tool

o IRECEERT &fi4444444J
EE[J Cylindrical Turning i‘ﬁ,]J
JIHR b 2 J1HR
gzg 0S5 71K (Inserts): AD9-A10  BE# (Toolholder Par ER7AE (R)  R-Type ShELHHY cnmarcairunng SEEH end race Tumng csv
$)3F Order Price 0= 71K (Inserts): A09-A10  EE# (Toolholder Parts): P01-P04 ERAE (R) R-Type lﬂlf‘;ﬁ
7A Number [ (RMB) FE
i=1 | Order Price B
MTQNRIL 1616H16 | 16 | 16 o |e|213700] 140 Number | (RMB) 718
2020K16 | 20 | 20 [125| 28 | 20 | 25 PL20 o | o|213702| 150 —
7?% e 125 | 25 | 150| 30 | 25 | 55 | TN-1604.. [CTM13|MT1603| {20 | Ms625 [HL1814| S| 5 (31570a| 200 MTJINRIL ;g;g::g ;g ;g 122 gg ;g gg o | o[213400] 140 DS
3232p16 | 32 | 32 [170| 30 | 32 | 40 o | o|213706| 260 aosm1c | oo | 5 TN..1604.. |cTM513|MT1603| PR20 | \Mseas |HL1s14 | ® | |213402) 150 T8
_— 2525M22 | 25 | 25 | 150 36 | 25 | 32 PL25 o|o[213708| 200 5| 2511501 30 | 25 | 32 PL30 ® | ®|213404) 200 E—
& 252022 | 3o | 55 |170| 36 | a3 | 40 | TN-2204.. [CTM17|MT2204| D40 | Ms830 | HL1917 | 2| 212008 280 3232P16 | 32 | 32 170 30 | 32 | 40 o | o|213406| 260 &
= 2525M22 | 25 | 25 150 36 | 25 | 32 . oo [213408] 200
wa || G 3232p22 | 32 | 32 |170{ 36 | 32 | 40 | TN..2204.. [CTM617|MT2204| CIo0 | Ms830 [HL1917| o | o [213410| 260 7
Number | (RMB) 4040R22 | 40 40 |200| 40 | 40 50 o|o|213412
i 450 o~
WTQNRIL 2020K16 | 20 | 20 | 125] 32 20 | 25 213600] 200 i
TIHE °le "
2525M16 | 25 | 25 |150| 32 | 25 | 32 | TN..1604.. [cTmsts-1{MT1603| D125 | M5x23| W16 | e | e |213602| 260 A - - cx = Namber | (RMB) i
i 3232P16 | 32 | 32 |170| 32 | 32 | 40 o | o|213604| 450 L
B DTJNRIL 2020K16 | 20 | 20 | 125| 30 | 20 | 25 . | 0213320 200 &
) N - 2525M16 | 25 | 25 |150| 30 | 25 | 32 | TN..1604.. |CTM515-T|MT1603 P:jg M5x23 | HLT-16 | o | o |213322| 260 P
, Number | (RMB) 3232P16 | 32 | 32 |170] 32 | 32 | 40 o 0|213326] 500
B ETQNR/L 2020K16 | 20 20 |125| 32 | 20 25 oo 213620 280
Els i =
=l 2525M16 | 25 | 25 [150| 34 | 25 | 32 | TN..1604.. |cT515-z| MT1603| PL2% | Mex25| HLZ-T |0 |o|213622] 290 A P e > ; || e #
. . > RMB
3232P16 | 32 | 32 |170| 34 | 32 | 40 pLao o|o|213626] 410 & ‘ unber | (19 *H
e WTJINRIL 1616H16 | 16 | 16 | 100] 32 16 | 22 oo |213300] 150 J
2020K16 | 20 | 20 [125| 32 | 20 | 25 PL25 o|o|213302| 156 NE
tJH‘! 2525M16 | 25 | 25 | 150 34 | 25 | 32 | |N-1604. CTMSTSTIMTIB03| b yg | MSX23 | WT-16 | o | | 513304 212 )t
mglf; 3232P16 | 32 | 32 [170] 34 | 32 | 40 o|o|213306| 276 18R
Order Price !!%21
Number (RMB)
INFL MTWNR T INEL
mT ? ETJNRIL 1616H16 | 16 16 |100| 32 16 22 0| 0|213500] 280 mT
2020K16 | 20 | 20 |125| 32 | 20 | 25 PL25 o|o|213502| 280
- ;, 2525M16 | 25 | 25 | 150| 34 | 25 | 32 | N-1604. [CTO1S-ZIMT1603) o5y | M8X25 | HLZT | o1 51513504 200 -
i 3232P16 | 32 | 32 |170] 34 | 32 | 40 o|o|213506| 410 R
ey Cylindrical Turning
i @nﬁ" serts)- ( d arts)- = E}g
7] (Inserts): A09-A10  FR# (Toolholder Parts): P01-P04 ERBE (R)  R-Type 7]
e sk 3z 3
Order Price ;%J;
Number (RMB)
MTWNR/L 1616H16 | 16 | 16 100] 30 | 16 | 20 L0 | e|213620] 140
2020K16 | 20 | 20 |125| 30 | 20 | 25 | TN..1604.. |CTM513|MT1603| £ 20 | MS625 |HL1814| @ | @ [213622| 150
2525M16 | 25 | 25 150 30 | 25 | 32 o | o|213626] 200
% 2
x4
—— MTWNR.B —
s e
R . L
: \ : o ) =
2 ‘ w N\ __ Sl 2
SME ZEHY
)’ Cylindrical Turning
i . iyl
IS 71K (Inserts): A09-A10  ER# (Toolholder Parts): PO1-P04 Ex5EH (R) R-Type R
iy Order Price
i T Number | (RMB) »
Y  MTWNRIL 2020K16-B| 20 | 20 | 125] 26 | 20 [33.5 : PL20 213630] 200 iﬁﬁ
| . o|e
2524M16-B| 25 | 24 | 150 26 | 25 |37.5] N 1604.- [CTMST3|MT1603] gy | MS625 [ HL1814| o | o |513632| 260 7




ZHl
TIHA

csv

MZG® SNEIZEHI R R
Cylindrical turning system

Z7]

P Type Cylindrical Turning Tool

P & & 5h

MVQNR DVQNR EVQNR _E[
SNEZEHI I

[‘)L\mcuca\ Turning \J 1 10

br Hil 27.5 o

WEEM o TE_E

0= 71K (Inserts): A11-A12 B # (Toolholder Parts): P01-P04 BRAE (R)  R-Type

Order Price
Number [ (RMB)
MVQNR/L 1616H16 o | e [214700] 140
2020K16 | 20 | 20 | 125| 28 | 20 | 25 PL20 o | o|214702| 150
2525M16 | 25 | 25 | 150| 30 | 25 | 32 | VN-1604. |CTMSISIMVIBOS| b 50 | MS625 | HL2414) o | o 1514704| 200
3232P16 o | o |214706| 260
Order Price
Number (RMB)
DVQNRIL 1616H16 0| o0|214720] 250
2020K16 o|o|214722| 250
2020K10 VN..1604.. | M5X9P |MV1603| PL30 | Mex21 | HLD-3 | 3| o |214722) 250
3232P16 o|o|214726| 380
Order
EVQNRIL 2020K16
2525M16 VN..1604.. |CT515-Z| MV1603 M8X25 | HLZ-V
3232P16

MVJINR DVJNR EVJNR
SNEIZEH g '/
Cylindrical Turning /) 4

355 1 2 B

End Face Turning

IS~ 71K (Inserts): A11-A12 ERAH (R)

FE M (Toolholder Parts): P01-P04 R-Type

Order | Price

Number | (RMB)

MVJNR/L 1616H16 e (e |214500| 140
2020K16 | 20 | 20 |125| 28 | 20 | 25 PL20 e | e|214502| 150

2525M16 | 25 | 25 | 150 30 | 25 | 32 VN..1604.. |CTM513|MV1603 PL30 MS625 | HL2414 o | e|214504| 200

3232P16 | 32 | 32 | 170] 30 | 32 | 40 e | ®|214506| 260

Order | Price

g ﬂ 3 — Number | (RMB)

DVJNR/L  1616K16 0| 0]214520| 250
2020K16 0|0 (214522| 250

2525M16 VN..1604.. | M56X9P |MV1603| PL30 | M6X21 | HLD-4 ol o|214524| 290

3232P16 0| ©[214526| 380

Order Price

Number | (RMB)

PL25 0| 01214532 280

2525M16 | 25 | 25 |150| 48 | 25 | 32 | VN..1604.. |CT515-Z|MV1603 PL40 M8X25 | HLZ-V | o [ ©|214534| 320

3232P16 | 32 | 32 [170| 48 | 32 | 40 ©]0]214536| 450

MVUNR

M E ZEH
Cylindrical Turning
i T 2 H

End Face Turning

0T 71K (Inserts): A11-A12

MVUNR/L 2020K16
2525M16
3232P16

ZEF (Toolholder Parts): P01-P04

BER%5E (R)

Order
Number

214800

214802
214804

MS625 | HL2414

R-Type

Price
(RMB)

150
200
260

DVUNR/L 2020K16
2525M16

3232P16

Order
Number

VN..1604.. | M5X9P |MV1603

Price
(RMB)

250
290
380

MVVNN

SNEFEHI

DVVNN EVVNN
P e {
Cylindrical Turning 3 72.5°
i T 2R
End Face Turning

0= 71K (Inserts): A11-A12  FE# (Toolholder Parts): P01-P04

Order
Number

MVVNN 1616H16 | o [214900
2020K16 | 20 | 20 |125| 28 | 20 | 10 PL20 o | o|214902
2525M16 | 25 25 150 30 | 25 |12.5| VN-1604. |CTMSTSIMVIG03| o 5q | MS625 | HL2414 ) | ¢ 1514904| 200
3232P16 | 32 | 32 [170] 30 | 32 | 16 o | o |214906| 260

Order Price
Number | (RMB)
1616K16 0 [214920] 250
2020K16 o|214922| 250
2020K16 VN..1604.. | M5X9P |MV1603 o|214922) 250
3232P16 o|214926| 380
Order Price
Number | (RVE)
2020K16 280
2525M16 M8X25 | HLZ-V 320
3232P16 214936| 450




5ME ZEH &R 2R P 8§ X SR ZE T)

Cylindrical turning system P Type Cylindrical Turning Tool

MWLNR MWENN
- EYES ENEES o
z ) [ e Tamng EH)
7117 e TIH
End Face Turning
l%zg IS 71K (Inserts):A13-A14  ZEfF (Toolholder Parts): PO1-P04 ExR7® (R) R-Type ESEX
ER IS 71K (Inserts): A13-A14  BEEH (Toolholder Parts): ER5E® (R) R-Type NREE R Dimensions ot | ELAPR gBotpn | RFwrench)  ERg : Stoc | Order | Price K
par) : Ordering code sl ol elwlml o < .’gﬂ w . Number | (RMB) 7E
=3 P R B Tk Insert HbHPin | 71 Shim | 8F Wienon| ERE | Ei Clam | g0y Order orice - i 8 H
L y ﬁ =" =] orer | (Rvie) MWENN 1616H08 | 16 16 |100| 33 | 16 | 8 o |215250, 140
DS h b L |Lifh]f] == L - RIL 2020K08 | 20 | 20 {12533 [ 20 | 10 |\ (oo | ool oenal PL25 | viseos [iigia| © |215252] 150 DS
pare MWLNR/L 1616H06 | 16 | 16 100 |31.5 16 | 20 oL20 | e (215200 140 2525M08 | 25 25 [150| 33 | 25 |12.5] WN--0804. PL30 o |215254| 200 TIHE
2020K06 | 20 | 20 | 125| 33 | 20 | 25 | WN..0604.. |CTM513|MW0603| 1,50 HL1814 | o | o [215202| 150 3232P08 | 32 | 32 [170] 33 | 32 | 16 o |215256| 260
— 2525M06 | 25 | 25 | 150| 33 | 25 | 32 o | o 215204 200
;EE% 1616H08 | 16 | 16 | 100(31.5| 16 | 20 MS625 o| e |215206| 140 ?IiEE%
2020K08 | 20 | 20 |125| 39 | 20 | 25 PL25 o|e|215208| 150
2525M08 | 25 | 25 | 150| 40 | 25 | 32 | VWN--0804.-|CTME17\MWOB04| 5, AL18141 o | o |215210| 200 MWWNR —=
Vi 3232P08 | 32 | 32 | 170 42 | 32 | 40 o | e|215212| 260 ’ »5‘%Fj %]
TR JmEe Rt Dimensions sﬂmﬁ?‘;iw e c|5“'§’s§ew AR Clamp | g0 Order Price m;/] X . | TR
- o T i e s iS¢ TR g [T Nemser | (RME) . T "
Eﬁlijéill DWLNRIL 1616H06 | 16 | 16 | 100 28 | 16 | 20 oo |215220| 250 rEER B _I iﬁlijéill
2020K06 | 20 | 20 |125| 26 | 20 | 25 o|o|215222| 250 e = E
2aoamos | 58 | 58 |120| 55 | 52 | 35 |WN.0604..| M5X9P [MWO0603| PL30 | M6X21 | HLD-3 | 3| o |51ea08| 290 [
1= 3232P06 | 32 | 32 | 170| 40 | 32 | 40 o|o|215228| 380 1=
=) 1616H08 | 16 | 16 | 100| 31 | 16 | 20 0| 0(215230| 250 0S¥ 71K (Inserts): A13-A14  FE# (Toolholder Parts): P01-P04 ERAB (R) R-Type =
2020K08 | 20 | 20 | 125| 28 | 20 | 25 o|o|215232| 250 -
aaamoe | o2 | 59 120l 55 | 52 | 55 | WN..0804..| MexoP [Mwoso4| PL30 | Mex21 | HLD-1 | o] o |5125351 550 p— R} Dimensions At | dbon| nsnm |srweren| BESE | £500 | stock | oo | price
N ES 3232P08 | 32 | 32 |170| 32 | 32 | 40 o|o|215238| 380 Ordering code hl bl L L1]nt] f ye'y e AN o R L | Number | (RMB) NES
EE MWWNRIL 1616H08 | 16 16  100| 33 | 16 | 20 | e |215260] 140 EE
2020K08 | 20 | 20 |125| 33 | 20 | 25 PL25 o| e |215262| 150
1247 2525M08 | 25 25 150| 33 | 25 | 32 | WN-0804.|CTMEIT\MWOB04| o 5, | MS625 | HL1B14| o1 o1 515564| 200 1247
e 3232P08 | 32 | 32 |170| 33 | 32 | 40 o | e|215266| 260 _—
INFL INFL
ML winR MWWNR..B o mI
s - — .
Rk ’ Isw. NG Rk
* SNEIEH s *
B crcaraning wl. _|:J~ . i
. SHEEH SRR T '
Eg End Face Turning Cylindrical Turning \— - T Eg
7] E 4 =7
%\ 0= 71A (Inserts):A13-A14  FE# (Toolholder Parts): P01-P04 ERAEE (R)  R-Type 9%\
ﬁ 0=~ 71K (Inserts): A13-A14  FE (Toolholder Parts): PO1-P04 ERA® (R)  R-Type
= R+ Di i FLHPin | 712 Shim | 3F Wrench | [ERRIEL | 4R Clamp | o0 . : :
orﬂzﬁ%;de imensions ¥ | ] ,gd’ﬂ‘ Screw T Slock | Nou::;r (F';r’:dc;) Nane R Dimensions qﬁgnsen ﬁ¥Wrgnc.n | Stook | order Price
WWLNRIL 1616H08 1h6 1b6 120 |3_; :1; 2f0 = - K 215100] 140 Ordering code h b [ a]n] | 25 ey d ‘ | [R[L| Number | (RMB)
L] .
MWWNR/L 2020K08-B| 20 20 | 125| 26 | 20 33.5 PL25 | e|215270| 200
2020K08 | 20 | 20 [125| 38 | 20 | 25 PL30 o|e|215102| 150 WN..0804.. |CTM617|MW0804, MS625 | HL1814
2525M08 | 25 | 25 | 150 | 38 | 25 | 3 | WN-0804..|CT618 W |MW0B04| Lo | MEX25 | WW-08 | o1 o |512108| 200 2524M08-B| 25 | 24 |150| 26 | 25 |37.5 PL30 o | o|215272| 260
k] 3232P08 | 32 | 32 |170| 38 | 32 | 40 o| o |215106| 260
ZFHl NREe R~ Dimensions ﬂﬁ‘%““" *"}fg?i" > ﬁ*‘"'a"c_" clﬁn?gcﬁrew E_ﬁc!é"‘p Stock | order Enes
Ordering code h b L L1 ] m f ‘ w M = ) | RIL Number | (RMB)
i EWLNR/L 1616H08 | 16 | 16 100 38 | 16 | 25 0|0 [215120| 250 wa
B 2020K08 | 20 | 20 | 125| 38 | 20 | 25 PL30 o|o|215122| 280 B
£ 2525M08 | 25 | 25 150 38 | 25 | 32 | WWN-0804..|CT618-ZIMWOBO04| pyq | MEX25 | HLZ-08 | 5| 6 |515126| 320 e
3232P08 | 32 | 32 | 170| 38 | 32 | 40 o|o|215128] 450
ki P&
) i Pl
ity T ity T
2k 2k



® B ZEY S A 4 SN [E]
Yide ENEEREY: B XHMNERIZFE T)

Cylindrical turning system S Type Cylindrical Turning Tool
R ~
N\
SCACR . ]:L j SCMCN..80 L4 _{
ShEZEHI [P L ) | N0 "
ZE Cytincricat Turni ol . \/ 9 R t ZHl
B K — 1§ rmey “H- T
nd Face Turning “ 3 Cylindrical Turning
csVv U5~ 71K (Inserls):A15-A16 FEH (Toolnolder P BxpE R) R-Type IS 71K (Inserts):A15-A16  BEE{F (Toolholder Parts): PO1-P04 EF5M (R)  R-Type csVv
- Rt Dimensions J1A Insert #F Wrench | #% Screw Stock . -
&§e o fﬂﬂ?d ; Order (PR:"B;) NmEe Rt Dimensions m%nlsen 4% F Wrench Order Price &5@
e e | - e erw i e - P R IR U
L] L]
= CC..0606.. T8 M2.5X7 SCMCN 0808H06 08 | 08 | 100 | 13 | 08 | 4 . 215701 100 8
1010K06 | 10 | 10 | 125 | 10 | 10 | 10 o | o | 216302 100 HFHOHGE e e L e e - CC..0602.. T8 M2.5%7 . BTG 7 il
DS 1212K09 | 12 | 12 | 125 | 13 | 12 | 12 o | o | 216304 100 T212H0s | 12 | 12 | 100 | 15 | 12 B . 515702 00 DS
e 1414K09 | 14 | 14 | 125 | 13 | 14 | 14 | CC..09T3.. T15 | Max10 | e | o | 216305 120 AATo0) o A T T 7 . SR ] Pt
1616K09 | 16 | 16 | 125 | 13 | 16 | 16 e | o | 216306 12 1616H09 16 | 16 | 100 | 18 | 16 8 CC..09T3.. TI5 | M4x10 . 215704 112
2020K09 20 | 20 | 125 | 18 | 20 | 10 o 215706 120
?IiEF% SCFCR or- l [ ’] 2525M09 25 | 25 | 150 | 18 | 25 | 12.5 . 215708 160 ?IiEE%
! @ 2020K12 20 20 125 | 23 20 20 . 215710 120
N £ CC..1204.. T20 | M5x12
- S 3 % @'ﬂQ ko o ke . 2525M12 | 25 | 25 | 150 | 23 | 25 | 125 . 215712 160 -

Y Cylindrical Turning . I of Y
Ans ' | R
TR s il 1 SCMCN..100 . N
=5 0S5~ 71K (Inserts): A15-A16  FE# (Toolholder Parts): P01-P04 ERFE (R)  R-Type 7 ' L) “
Oy o Ve ] Ll

HI‘J‘l J— R+ Dimensions 7 e % Wreneh | 4B Sorew | g0 oo rice . L
iﬁj Ordering code h b L L1 h1 f JH ’/\r R L Number (RMB) B 2 M) o iﬁ]
= SCFCRIL 1212H06 | 12 | 12 | 100 | 16 | 12 | 16 | CC..0602.. T8 M2.5%7 | e | e | 215600 100 ylindrical Turning E —_‘[ =
é%'] 1414H09 14 14 100 20 14 16 Ol O 215601 120 IS 71K (Inserts): A15-A16  EE# (Toolholder Parts): P01-P04 EFRBE (R)  RType $E"élj
1616H09 | 16 | 16 | 100 | 20 | 16 | 20 | CC..09T3.. Ti5 | Max10 | e | e | 215602 112 i~ e TN P
— 2020K09 | 20 | 20 | 125 | 20 | 20 | 25 o | o | 215604 120 nRBL s+ Dimensions ulne Order Price
4 N K 3 Stock 4
INE 2525M12 | 25 | 25 | 150 | 25 | 25 | 32 CC.1204 T20 Msxi2 | ® | @ | 215606 160 Ordering code h b L 1 [ 3 »Qf e o Number (RMB) N
Y& 3232P12 | 32 | 32 | 170 | 25 | 32 | 40 o | o | 215608 220 SCMCN 1010H06-100] 10 | 10 | 100 | 13 | 10 | 5 CC..0602.. T8 . 216100 | 100 k|
P 1212H09-100| 12 | 12 | 100 | 18 | 12 6 . 216102 100 ) B
1247 SCGCR 1414H09-100 14 | 14 | 100 | 18 | 14 7 . 216103 120 1247
Saiiiiad 1616H09-100 16 | 16 | 100 | 18 | 16 8 CC..09T3.. T15 | M4Xx10 . 216104 112 =
WAL ENEERT 2020K09-100| 20 | 20 | 125 | 18 | 20 | 10 . 216106 120 WAL
mT Cylindrical Turning 2525M09-100| 25 | 25 | 150 | 18 | 25 | 12.5 . 216108 160 mT
i TN 2020K12-100| 20 | 20 | 125 | 23 | 20 | 20 . 216110 120 o
Pl End Faco Turning 2525M12-100 25 | 25 | 150 | 23 | 25 | 12,5 | CC.-1204. T20 | msx12 . 216112 160 —
QE 0=~ 71K (Inserts):A15-A16  BE# (Toolholder Parts): P01-P04 ERAE (R)  R-Type - QE
_1{ TRES Rt Dimensions ﬂ{?lnf}en R F Wrench Stock . —— seBeR *F\ B %
ey Ordering code = 5 T TR : ] N R L] Number (RMB) [ ‘L _I
%7 SCGCRI/L 0808F06 | 08 | 08 | 80 | 10 | 08 | 10 e | o | 215450 120 o kB L |
$5 1010H06 | 10 | 10 | 100 | 12 | 10 | 12 | CC..0602.. T8 o | o | 215452 100 of
~ 1212H06 | 12 | 12 | 100 | 12 | 12 | 16 o | o | 215453 100 ENEEC] T_E
1212H09 | 12 | 12 | 100 | 18 | 12 | 16 o | o | 215454 100 findrical Turning B
1616H09 16 16 100 18 16 20 el 215456 12 0[S 71K (Inserts):A15-A16 B (Toolholder Parts): P01-P04 ERAB (R) R-Type
2020K09 | 20 | 20 | 125 | 20 | 20 | 25 | CC..09T3.. TI5 | M4x10 | o | o | 215458 120 — = e
2525M09 | 25 | 25 | 150 | 24 | 25 | 32 o | o | 215450 160 nEuE R Dimenslons Stock Order Price
2020K12 | 20 | 20 | 125 | 23 | 20 | 25 o | o| 215452 120 Oty e h b L[ [ [t | B e (RMB)
2525M12 | 25 | 25 | 150 | 26 | 25 | 32 | .. ... T20 MEx12 | o | ® | 215454 160 SCBCR/L 1212H09 | 12 | 12 | 100 | 13 | 12 | 9.5 o [ o | 216196 120
N 3232P12 32 32 170 28 32 40 . . 215456 220 1616H09 16 16 100 15 16 13 cC. 0973 s WA 10 . . 216198 120 ESE
% 3 2020K09 | 20 | 20 | 125 | 12 | 20 | 17 e o [ o | 216200 120 % 3
SCLOR 2525M09 | 25 | 25 | 150 | 12 | 25 | 22 o | o | 216202 160
. 1616H12 | 16 | 16 | 100 | 20 | 16 | 13 e | o | 216203 120
2020K12 | 20 | 20 | 125 | 16 | 20 | 17 | CC..1204.. T20 | M5x12 | e | o | 216204 120
L334 SME ZE I o 2525M12 | 25 25 | 150 | 16 25 22 o | o | 216206 160 [

3] Cylindrical Tuming ]
FY e SCKCR s 3
End Face Turning ) fi
-
& IS 71K (Inserts):A15-A16  Z 4 (Toolholder Parts): P01-P04 ERBB (R)  R-Type @ o [ . 1
Pl TR Rt Dimensions Péidnsert HF Wrench | R Sorew | g0 Order Price T ZE I : I K -3 Pl
Ordering code h b L 1 h1 f () /\ﬂ R L Number (RMB) End Face Turning b ‘t
” SCLCR/L 0808F06 | 08 | 08 | 80 10 | 08 10 e | o | 215400 120 IS 71K (Inserts):A15-A16 TR (Toolholder Parts): PO1-P04 ERBE (R)  R-Type ”
i T 1010H06 10 10 | 100 | 12 10 12 CC..0602.. T8 M2.5x7 | o | o | 215402 100 » e — £ Wranh S o i T
Yl 1212H06 | 12 12 | 100 | 12 12 16 o | o | 215403 100 e e e Y
1212H09 12 12 100 18 12 16 o | o 215404 100 g h b L L1 h1 f /‘\' R| L
1414H09 | 14 14 | 100 | 18 14 16 o | o | 215405 120 SCKCR/L 1212H09 | 12 12 | 100 | 20 12 16 e | e | 215500 100
1616H09 | 16 16 | 100 | 18 16 | 20 CC..09T3.. T15 M4x10 | o | o | 215406 112 1414H09 | 14 14 | 100 | 20 14 16 o | o | 215501 120
2020K09 | 20 | 20 | 125 | 20 | 20 | 25 o | o | 215408 120 1616H09 | 16 16 | 100 | 20 16 20 CC..09T3.. T15 M4x10 | o | e | 215502 112
2525M09 | 25 | 25 | 150 | 24 | 25 | 32 o | o | 215410 160 2020K09 | 20 | 20 | 125 | 23 | 20 25 o | o | 215504 120
2020K12 | 20 | 20 | 125 | 23 | 20 | 25 o | o | 215412 120 2525M09 | 25 | 25 | 150 | 23 | 25 | 32 o | o | 215506 160
2525M12 | 25 | 25 | 150 | 26 | 25 | 32 CC..1204.. T20 M5x12 | o | e | 215414 160 2020K12 | 20 | 20 | 125 | 23 | 20 25 ce 1204 20 Msx12 | ® | o | 215508 120
3232P12 | 32 32 | 170 | 28 | 32 | 40 o | o | 215416 220 2525M12 | 25 | 25 | 150 | 25 | 25 | 32 - - e | o | 215510 160

B @20



ZH|

csv
4

718

DS
TIHE

IEH
HT)

24y
EST

)48
L

3y T
k|

5ME ZEH &R 2R

MZG"

Cylindrical turning system

S Bl ZINE ZE T]
S Type Cylindrical Turning Tool

SDACR
SME FEHI

ylindrical Turning

355 T 2 )

End Face Turning

@@

(=¥~ 71K (Inserts): A17-A18 T &% (Toolholder Parts): P01-P04

v —
R

ERAE (R)  R-Type

TpEe R Dimensions ﬂ)i’lrnssn #RF Wrench | 84 Screw Stock Order Price
Ordering code h b L 1 1 f /' /\4 R L Number (RMB)
SDACR/L 0808H07 8 8 100 15 8 8 . . 216500 120
1010H07 10 10 100 15 10 10 DC..0702.. T8 M2.5X7 . . 216502 100

1212H07 12 12 100 15 12 12 L] L] 216504 100

1212H11 12 12 100 22 12 12 o | o 216506 100

1414H11 14 14 100 22 14 14 ° L 216507 120

1616H11 16 16 100 22 16 16 DC..11T3.. T15 M4Xx10 . . 216508 12

2020K11 20 20 125 22 20 20 . o 216510 120

2525M11 25 25 150 22 25 25 . . 216512 160

SDFCR

SEEH @
Cylindrical Turning N\
BEZEH

0S¥~ 71K (Inserts): A17-A18  ZE 4 (Toolholder Parts): PO1-P04

R F Wrench

N | p—

o

ER75® (R)  R-Type

TEBe Rsf Dimensions 7])%["19_" Stock Order. Price
Ordering code. h b L 1 m P A /’\« R L Number (RMB)
SDFCR/L_1212H07 12 12 100 8 12 16 DC..0702.. T8 o | o 216600 100
1616H11 16 16 100 14 16 20 . . 216602 112
2020K11 | 20 | 20 | 125 | 14 | 20 | 25 | PC-M1TS. s o | o | 216604 120
3T
i 8 2 Hl
End Face Turning —
0= 71K (Inserts): A17-A18  EE# (Toolholder Parts): P01-P04 ERFAE (R)  R-Type
TinEe Rt Dimensions ZJHInserl‘ i F Wrench 484 Screw Stock. O ETee
Ordering code h b L 1 h f y Lw /w ’ R L Number (RMB)
SDJCR/L 1010H07 10 10 100 14 10 12 ] . . 216400 100
1212H07 12 12 100 14 12 16 DC..0702.. T8 M2.5X7 . . 216402 100
1616H07 16 16 100 14 16 20 o o 216404 112
1212H11 12 12 100 20 12 16 . . 216406 100
1414H11 14 14 100 20 14 16 L L 216407 120
1616H11 16 16 100 20 16 20 . . 216408 112
AR AR AR AL I K H H - R
. .
3232P11 32 32 170 23 32 40 L L 216414 220
4040R11 40 40 200 25 40 50 e e 216416 400
Yars
SDNCN EI
A\
SE ZE I
0S5~ 71K (Inserts):A17-A18  ZE A (Toolholder Parts): PO1-P04 ERAE (R)  R-Type
TEBe R+t Dimensions J1K Insert #F Wrench | 8% Screw Stock Order Price
2 e ;
Ordering code h b L 1 1 f A //\4 ‘\ R L Number (RMB)
2 I 1 N O I IO e 0 I S P
1212H11 12 12 100 21 12 6 . . 216716 100
fdort1 | 1o | o | 100 | 21 o | & | DC-1TS. [ TS pmexio p OO G T
2020K11 20 20 125 21 20 10 L] . 216720 120

SDQCR I
ONES] ﬂ‘ 7.5,
HEEH
End Face Turning
IS 71K (Inserts): A17-A18  BE# (Toolholder Parts): P01-P04 ExRAHE (R)  R-Type
Jj;ﬂg-% Rt Dimensions NA [nsert 1 F Wrench e Sr;rew Stock o Fien
Ordering code h b L 11 h t / /\4 R L Number (RMB)
SDQCRIL 1010H07 | 10 | 10 | 100 | 13 | 10 | 12 e [ o | 216700 100
1212H07 | 12 | 12 | 100 | 13 | 12 | 16 | DC-0702. T8 M2.5X7 | o | o | 216702 100
1212H11 | 12 | 12 | 100 | 14 | 12 | 16 o [ o | 216704 100
1616H11 | 16 | 16 | 100 | 14 | 16 | 20 o | o | 216706 112
2020K11 | 20 | 20 | 125 | 16 | 20 | 25 | DC-T1TS- TS ] Maxa0 g g | 216708 120
2525M11 | 25 | 25 | 150 | 20 | 25 | 32 o | o | 216710 160
SSBCR
SME ZEHI
Cylindrical Turning
IS 71K (Inserts): A20 EE# (Toolholder Parts): PO1-P04 ExRAE (R)  R-Type
Jmm e Rt Dimensions A flnsert EE eI Stock Order Price
Ordering code h b L 1 1 t Q‘ /\« R L Number (RMB)
SSBCRIL 1212H09 | 12 | 12 | 100 14 | 12 | 9.5 - e [ o | 217100 100
1616H09 | 16 | 16 | 100 | 14 | 16 | 13 T 115 | wmaxio | * | o | 217102 112
2020K09 | 20 | 20 | 125 | 30 | 20 | 17 | SC-09T3- o | o | 217104 120
2525M00 | 25 | 25 | 150 | 32 | 25 | 22 o | o | 217106 160
2020K12 | 20 | 20 | 125 | 30 | 20 | 17 o [ o | 217108 120
2525M12 | 25 | 25 | 150 | 25 | 22 | 2p | SC-1204. T20 [ M52 ] o | o | 217110 160
SSKCR
i T ZE HI o P
End Face Turning E EI
IS5 71K (Inserts): A20 EEH (Toolholder Parts): PO1-P04 ExR5E (R) R-Type
Nmme R} Dimensions Ailnser FEATAIEY Stock Order Price
Ordering code T 5 T T o : Q e RTL Number (RMB)
SSKCRIL 1212H09 | 12 | 12 100 | 15 | 12 | 16 - e | o | 217198 112
1616H09 | 16 | 16 | 100 | 20 | 16 | 20 o | o | 217200 112
2020K09 | 20 | 20 | 125 | 25 | 20 | 25 | SC-09TS. TI5S | MaX10 | o T g | 217202 120
2525M00 | 25 | 25 | 150 | 22 | 25 | 32 o | o | 217204 160
2020K12 | 20 | 20 | 125 | 20 | 20 | 25 | SC..1204.. T20 | M5x12 | e | e | 217206 120
SSSCR
SMEZEHI @
Cylindrical Turning e T
FE# (Toolholder Parts): P01-P04 ERAE (R)  R-Type
NmEe Rt Dimensions Rbdasert o drench Stock Order Price
Ordering code h b L h1 f 0‘ /‘\4 R L Number (RMB)
SSSCRIL 1212H09 | 12 | 12 | 100 12 | 16 - e [ o | 217300 112
1616H09 | 16 | 16 | 100 16 | 20 o | o | 217301 112
2020K09 | 20 | 20 | 125 20 | 25 | SC-09T3. TS | M&X0 o 1 e | 217302 120
2525M09 | 25 | 25 | 150 25 | 32 e | o | 217303 160
2525M12 | 25 | 25 | 150 25 | 32 | SC.1204.. T30 | M5X12 | e | e | 217304 160
SSDCN ~
ENRES o
Cylindrical Turning
0S5" 71K (Inserts):A20 R # (Toolholder Parts): P0O1-Pd4 ExA®B (R) R-Type
p— [ —— Nfmset | 57 Wronen S o e
Ordering code z % L T i g Q‘ P R L | Number (RMB)
SSDCN 1212H09 | 12 | 12 | 100 | 16 | 12 | 6 = e | o | 217400 12
1414H09 | 14 | 14 | 100 | 16 | 14 | 7 o | o | 217401 120
1616H09 | 16 | 16 | 100 | 16 | 16 | 8 SC..09T3.. T15 | Max10 | o | o [ 217402 120
2020K09 | 20 | 20 | 125 | 16 | 20 | 10 o | o | 217404 120
2525M09 | 25 | 25 | 150 | 16 | 25 | 12.5 o | o | 217406 160

il
FH

3 T
P&



= Ny W 1) iJ.'Illx N
Vides SME ZF H & % p-=] s BI g XS E F T)

Cylindrical turning system

S Type Cylindrical Turning Tool

SRAP(C)R ‘[ STECR
PNES " n PNCER
$ﬁu Cylindrical Turning " lindrical Turning E‘éu
I mmER ki
csv (S J1HK (Inserts):A19  EE# (Toolholder Parts): P01-P04 E:75E (R)  R-Type 0" 71K (Inserts): A21-A22  FE# (Toolholder Parts): PO1-P04 ERA® (R) R-Type cSsvV
e L Rt Dimensions ﬂ)%:seri ®F Wrench | R Screw | gyo0p o Price P— Rt Dimensions #F Wrench Stock CRLT Price S
R Ordering code h b L 1 h f s /’V R | L Number (RMB) Ordering code v 5 T T e /N RIL e (RMB) g
718 SRAP(C)RIL 1616H08 | 16 | 16 | 100 | 16 [ 16 | 16.5 e | o[ 218500 M2 STECRIL 1616H11 | 16 | 16 | 100 | 80 | 10 | 16 e | o | 217700 120 718
2020K08 | 20 | 20 | 125 | 16 | 20 | 20.5 | RP..08T2.. T10 M3xg | e | e | 218502 120 2020Kk11 | 20 | 20 | 125 | 100 | 12 | 20 o | o | 217702 148
DS 2525M08| 25 | 25 | 150 | 16 | 25 | 25.5 o | o | 218504 160 2525M11 | 25 | 25 | 150 | 120 | 16 | 25 | 'C-1102- T8 [ M25%7 | o | o | 217704 168 DS
e 2020K10 | 20 | 20 | 125 [ 203 [ 20 [ 206 | o oo 115 lwssxiol ® | | 218508 120 5020K16 |20 20 725 100 76 T 20 e 217708 0 el
2525M10) 25 @ 25 | 150 | 20.3 | 25 | 25.6 o | o | 218508 160 2525M16 | 25 | 25 | 150 120 | 20 | 25 | TC.16T3.. T15 | M3.5%9 | e | o | 217708 168
py—— ZUZ2UE12) OO I OR NON ICORREOEY o 1004 TI5 | maxio | o | ®| 218510 120 3232P16 | 32 | 32 | 170 | 135 | 25 | 32 o | o | 217710 242 op—
& 2525M12| 25 | 25 | 150 | 25 | 25 | 25.8 o | o | 218512 160 E@
HET — HE
STGCR . )} :[
Y w L) — Yil
SNEZEHI o
7 - Cylindrical Turning ELL T . | TIE
— SRDP(C)N . § - T . . —
o smsw L .
ZEH Cylindrical Turning - =411}
- . =¥ 71K (Inserts): A21-A22 &t (Toolholder Parts): P01-P04 BRAE (R)  R-Type
I= E[ Tmme Rt Dimensions 2 EZuench | Mt serew Stock Order Price fa
ZHl IS5 71K (Inserts): A19 BB (Toolholder Parts): P01-P04 ERAME (R)  R-Type Ordering code h b L L1 h1 f N M\’ R| L Number (RMB) |
N . T1H Insert 15 F Wrench 4 Screw .

- e R Dimensions . Stock - Price STGCRIL 0808H09 | 8 8 | 100 | 10 8 10 e | o | 217600 120 -
INE e hEeREE L) ey é\‘ Riisen (RMB) 1010H09 | 10 | 10 | 100 | 12 | 10 | 12 | TC-0%02. 6 M2.2X6 | o | o | 217602 100 INE
P n ) L L L i et - Z RIL 1212H11 | 12 | 12 | 100 | 16 | 12 | 16 o | o | 217604 100 ) fE
is ~ SROP(CIN 161608 16 16 | 100 | 16 | 16 8 e | o | 218700 112 ETe RN I R RO O N G TC..1102.. T8 M2.5X7 | o | o | 517806 7 ey
4 2020K08 | 20 | 20 | 125 | 16 | 20 | 10 RP..08T2.. T10 M3x8 | e | e | 218702 120 1616H1s | 16 16 oo T 22 15 T 20 e 217609 s 4
R4 2525M08| 25 | 25 | 150 | 16 | 25 | 125 o | o | 218704 160 s e et N e o R4

—_— 1010H10| 10 | 10 | 100 | 20.3 | 10 5 o [ o | 218706 100 2525M16 | 25 | 25 | 150 | 22 | 20 | 3> | TC.16T3.. T15 | Max10 | o | o | 217810 160 —
INFL 1616H10| 16 | 16 | 100 | 20.3 | 16 8 o | o | 218708 112 TR R TR R N s R o INFL
mT 2020K10 | 20 | 20 | 125 | 203 | 20 | 10 RP..10T3.. T15  |M3.5x10| o | o | 218710 120 mT

2525M10| 25 | 25 | 150 | 20.3 | 25 | 125 o | o | 218712 160
- 3232p10 | 32 | 32 | 170 | 203 | 32 | 16 o | o | 218714 220 STECR
R
%7 2saswiz| 25 | 25| 150 | 25 | 25 |ams| RP1204- | T8 | maxio| 2 o) Fere | e . &
: el SR ZEHI —— ’
Cylindrical Turning V
E% HEEH
End Face Turning
ek
SRGP(C)R l {ri‘l 0" 71K (Inserts):A21-A22 B # (Toolholder Parts): PO1-P04 - - ERAME (R) R-Type
| = R~ Dimensions Wiench F44 G Stock Ord Price
s ~E pens e
e ® Ny | N Ordering code h b L L1 h f 2 X’V R L Number (RMB)
- STFCRIL 1010H09 | 10 | 10 | 100 | 12 | 10 | 12 | TC..0902.. T6 M2.2%6 | e | o | 217500 100
4 1212H11 | 12 | 12 | 100 | 16 | 12 | 16 o | o | 217502 100
— TC..1102.. T8 M2.5%7
- 1414H11 | 14 | 14 | 100 | 16 | 14 | 16 o | o | 217503 112
N 0S5~ 714 (Inserts):A19 B # (Toolholder Parts): P01-P04 ER5E (R)  R-Type 1616H11 16 15 700 16 5 20 P 217504 112
] TREe Rt Dimensions 2l HE Wrench Stock Order Price 1616H16 | 16 16 | 100 | 16 16 20 TC..16T3.. T15 M4x10 | o | o | 217506 112
R e s i e s o B M e P S v B T soance | 0 | ||z || HEC R
SRGP(C)RIL 1212H05| 12 | 12 | 100 | 9.5 | 12 | 16 e | o | 218600 100 e le
434 1616H05 | 16 | 16 | 100 | 95 | 16 | 20 RP..0502.. T6 M2.2%6 | o | o | 218602 112 247
" 2020K05 | 20 20 | 125 | 11.2 | 20 25 o | o | 218604 120 ~80° i
| K i
#H 2525M05| 25 | 25 | 150 | 14.7 | 25 | 32 o | o | 218606 160 STWCR Pt ' - _:I #H
—_— 1212H06 | 12 12 [ 100 [ 10 12 16 o | o | 218608 100 SNELZE I o = et | —
1616H06 | 16 | 16 | 100 | 10 | 16 | 20 o | o | 218610 112 Cylindrical Turning h -
1 2020K06 | 20 | 20 | 125 | 12 | 20 | 25 | RP-0602. T8 M25XE 1 | e | 218612 120 i 2 ) 15 1t g 1
1) 2525M06 | 25 25 150 15 25 32 o | o 218614 160 ol Face oG 21 :[ 1] B
1616H08 | 16 | 16 | 100 | 11 | 16 | 20 o | o | 218616 112 - -
2020K08 | 20 20 | 125 | 12.7 | 20 25 RP..08T2.. T8 M3x8 | e | o | 218618 120 U5~ 715 (Inserts): A21-A22_ FRH# (Toolholder Parts): P01-P04 ERFE (R)  R-Type
w 2525M08| 25 | 25 | 150 | 16.2 | 25 | 32 o | o | 218620 160 - R+ Dimensions A I FF Wronch | M2 Serew | gy o "
) TR / Order rice i
jgﬁ]E 1616H10 | 16 | 16 | 100 | 11 | 16 | 20 o [ o [ 218622 112 Ordering code b T o 1 Lol ¢ | & R e ) i}m]E
= 2020K10 | 20 | 20 | 125 | 127 | 20 | 25 RP..10T3.. T8 Max10 | o | o | 218624 120 € 2
525Nl EE N R e TR 5] STWCRIL 1212H11 | 12 | 12 | 100 | & 12 | 15.3 o | o | 217712 100
: 1616H11 | 16 | 16 | 100 | & 16 | 19.3 o | o | 217714 112
2020K12 | 20 | 20 | 125 | 13 | 20 | 25 e | o | 218628 120
aomiz| o8 | 28 | 1e0 | 1y | o8 | a5 | RP.1204. T5 | maxio | | 0| ZAoo%S e 2020K11 | 20 | 20 | 125 | 8 | 20 | 23.3| 'C-1102- T8 | M28XT g o | 217716 120
2525M11 | 25 | 25 | 150 | 8 25 | 28.3 o | o | 217718 160
1616H16 | 16 | 16 | 100 | 12 | 16 | 21 e | o | 217720 112
2020K16 | 20 | 20 | 125 | 12 | 20 | 26 o | o 217722 120
2525M16 | 25 | 25 | 150 | 12 | 25 | 31 | 1C-16TS. TIS | MaXA0 1 ol g | 217724 160
3232P16 | 32 | 32 | 170 | 12 | 32 | 38 o | o | 217726 220




ZH|

csv
4

718

DS
TIHE

IEH
HET)

M7l
|
3o
ZEH)

)48
L

3y T
k|

5ME ZEH &R 2R

MZG"

Cylindrical turning system

Z= H

S Bl ZINE ZE T]
S Type Cylindrical Turning Tool

SVJBR
SNE ZEH

Cylindrical Turning
B2

End Face Turning

SVJCR
5B ZEH

Cylindrical Turnin:
i 1 2 Hl

End Face Turning

B

o

0S¥ 71K (Inserts): A23-A24  EEf (Toolholder Pa ExA®B (R) R-Type
NiEwe R~} Dimensions T1K Insert #F Wrench | 4R Screw | gyq0x Order Price
= —
Ordering code h b L 1 1 t /t /\! R L Number (RMB)
SVJBR/L 1212H11 12 12 100 25 12 16 . . 218108 112
1616H11 16 16 100 28 16 20 VB..1103.. T8 M2.5X6 | e . 218110 120
2020K11 20 20 125 32 20 25 . . 218112 160
1616H16 16 16 100 32 16 20 . . 218100 112
asasmis | 25 | 25 | iso | sz | 28 | ap | VE-1604. | T1s | waxi0 |\ Sl Ll Snee | g0
3232P16 32 32 170 40 32 40 ° . 218106 220
SVQBR
SNEEHI
L o,
HE % ¢
End Face Turning
(=¥ 71K (Inserts): A23-A24  RE# (Toolholder Parts): P01-P04 ER%5E (R)  R-Type
— Rt Dimensions J1H Insert #F Wrench | % Screw Stock Order Price
S ——
Ordering code z b L TR c <®Z | R L | Numer (RMB)
SVQBR/L 1212H11 12 12 100 25 12 16 . L] 218301 12
1616H11 16 16 100 28 16 20 VB..1103.. T8 M2.5X6 | ® L] 218303 120
2020K11 20 20 125 32 20 25 ° . 218305 160
1616H16 16 16 100 32 16 20 o . 218300 112
NI MR I R VAR R Y 8 i
3232P16 32 32 170 40 32 40 ° . 218306 220
> | —
Cylindrical Turning | o
T HI J " ]
End Face Turning K
IS 71K (Inserts):A23-A24  ER# (Toolholder Parts): P01-P04 ER75M (R)  R-Type
— R BmEnEens T1K Insert #HF Wrench | B4 Screw | g0 - —
5 ——
Ordering code h b L 1 1 t A ) /W R L Number (RMB)
SVUBRI/L 1212H11 12 12 100 12 12 16 . ° 218318 112
1616H11 16 16 100 12 16 20 VB..1103.. T8 M2.5X6 | e L] 218320 120
2020K11 20 20 125 16 20 25 o L4 218312 160
1616H16 16 16 100 20 16 30 . . 218310 12
asasmte | 25 | 25 | is0 | 16 | 25 | a2 | VE-1o04. | Tis | waxio | S| S Ziasie | te0
3232P16 32 32 170 16 32 40 ° . 218316 220
“117.5°
SVVBN
PNEEST |
Cylindrical Turnin: o/
v/
[ 71K (Inserts):A23-A24  ER# (Toolholder Parts): P01-P04 ER758 (R)  R-Type
: . T K Insert #RF Wrench | ## Screw .
7 = R=F Dimensions Order Price
Ordering code h b L L1 hi f i d/~ Stock Number (RMB)
SVVBN 1010H11 10 10 100 25 10 5 . 218201 112
1212H11 12 12 100 28 12 6 VB..1103.. T8 M2.5X7 . 218203 112
1616H11 16 16 100 24 16 8 . 218200 112
2020K11 20 20 125 24 20 10 . 218202 120
2525M11 25 25 150 24 25 12.5 . 218204 160
st | 16|00 34|00l B o qane, | 7es | wero |3 | 2teme| e
2525M16 25 25 150 34 25 12.5 ° 218210 160
3232P16 32 32 170 34 32 16 . 218212 220

0S¥~ 71K (Inserts): A23-A24  EE# (Toolholder Parts): P01-P04 EREE (R) R-Type
p— Rt Dimensions J1K Insert #HF Wrench | ## Screw | g0 . —
= —
Ordering code h b L 1 1 t A /~ R L Number (RMB)
SVJCR/L 1212H11 12 12 100 25 12 16 ° . 218158 112
1616H11 16 16 100 28 16 20 VC..11083.. T8 M2.5X6 | e . 218160 120
2020K11 20 20 125 32 20 25 o o 218162 160
1616H16 16 16 100 32 16 20 . . 218170 112
2525M16. | 25| 25| 150 | a2 | 25 | sz | Ve-104. | T1s | maxio | S S iEh | 160
3232P16 32 32 170 40 32 40 ° ° 218176 220
r A
s
SEZEH ] :
Cylindrical Turnin: e M L |
i 8 & B e —
025~ J1H (Inserts): A23-A24  FE{# (Toolholder Parts): P01-P04 BER75E (R)  R-Type
- R D " J1H Insert R F Wrench | M2 Screw Stock .
ST S o~ ~ T Nomwer | )
9 h b L o] | = e R L
SVQCR/L 1212H11 12 12 100 25 12 16 . . 218351 112
1616H11 16 16 100 28 16 20 VC..1103.. T8 M2.5X6 | e . 218353 120
2020K11 20 20 125 32 20 25 . . 218355 160
1616H16 16 16 100 32 16 20 ° . 218350 112
020
asoswio | 25 | 25| 10| sz | 28 | ag| Ve-1604. | 715 | wexio |\ S| ZEREE | 160
3232P16 32 32 170 40 32 40 . . 218356 220
r
PNGES ] oJ T
Cylindrical Turning . L
i 8 2 Hl '
End Face Turning = K
IS5 71K (Inserts): A23-A24 B (Toolholder Parts): PO1-P04 ERFAME (R)  R-Type
i i TIH Insert % F Wrench 84 Screw .
Smne Rt Dimensions 2 y Stock Order Price
Ordering code h b L ) i P /W /\« RTL Number (RMB)
SVUCR/L 1212H11 12 12 100 12 12 16 . . 218358 12
1616H11 16 16 100 12 16 20 VC..1103.. T8 M2.5X6 | e . 218360 120
2020K11 20 20 125 16 20 25 J . 218362 160
1616H16 16 16 100 20 16 30 ] . 218370 12
252516 | 25| 25| 150 | 16 [ 25 | ap| Ve-1804. | T1s | maxto | S S TIEE |t
3232P16 32 32 170 16 32 40 . . 218376 220
“117.5°
SVVCN l | EI
SME . 75
Cylindrical Turnin; 'IJ_, - IWE‘- |
of
- T
0= 71K (Inserts): A23-A24 B (Toolholder Parts): P01-P04 Ex:5H (R) R-Type
or?mﬂ% Rt Dimensions 2’;";5'" #RF Wrench | 8% Screw - Order :rl::;
ering code h b L 1 1 i <& /?‘\-4 Number ( )
SVVCN 1010H11 10 10 100 25 10 5 . 218251 112
1212H11 12 12 100 28 12 6 VC..1103.. T8 M2.5X7 . 218253 112
1616H11 16 16 100 24 16 8 ° 218250 112
2020K11 20 20 125 24 20 10 . 218252 120
2525M11 25 25 150 24 25 12.5 . 218254 160
st te eSS o i, | v | e [P s
2525M16 25 25 150 34 25 12.5 . 218260 160
3232P16 32 32 170 34 32 16 . 218262 220

3 T
P&



